Discovery 2 Module 6 Exam Picture Descriptions
Refer to the exhibit. If all routers are running RIP and network 10.0.0.0
Diagram depicts a network of 3 routers with 2 hosts. The routers are running RIP. Host A connects to router R1 on network address 172.16.0.0. R1 connects to R3 which connects to R2. R2 has a “broken connection to Host B on network 10.0.0.0.

Refer to the exhibit. Which configuration command or commands
Graphic shows the output of a show IP protocols command issued on RouterA

Routing protocol is “rip”

Sending updates every 30 seconds, next due in 2 secs

Invalid after 180 seconds. Hold down 180, flushed after 240

Outgoing update filter <output omitted>

Default version control: send version 2, receive version 2

Interface

send

recv
 keychain

Fastethernet0/0 
2

2

Fastethernet0/1 
2

2

Serial 0/1

2

2

Routing for networks

179.19.0.0

172.20.0.0

192.168.3.0

<output omitted>

Refer to the exhibit. All of the routers are running RIP. There are two paths from router A
Diagram shows a large network of 7 routers. A network, 192.168.3.0/24 is connected to 1 end. From router A there are 2 paths to this network being:

A – B – C – D or

A – E – F- G – D

The output of a show IP route command on Router A is shown:

<output omitted>

Gateway of last resort is not set

10.0.0.0/24 is subnetted, 7 subnets

C 10.0.1.0 is directly connected, serial 0/2/1

C 10.0.2.0 is directly connected, serial 0/2/0

R 10.0.3.0 [120/1] via 10.0.1.2 00:00:08, Serial0/2/1

R 10.0.5.0 [120/2] via 10.0.1.2 00:00:08, Serial0/2/1

R 10.0.6.0 [120/1] via 10.0.2.2 00:00:02, Serial0/2/0

R 10.0.7.0 [120/2] via 10.0.2.2 00:00:08, Serial0/2/0

R 10.0.8.0 [120/3] via 10.0.1.2 00:00:08, Serial0/2/1


[120/3] via 10.0.2.2, 00:00:02,serial0/2/0

R 192.168.3.0/24 [120/3] via 10.0.1.2, 00:00:08, serial0/2/1

Refer to the exhibit. If connectivity between the two hosts is maintained,
Diagram depicts 2 hosts a router and Rip network cloud. Host A connects to RTA, which connects to the cloud. Host B connects directly to the cloud.

Refer to the exhibit. Router B receives a packet with a destination
Diagram depicts the output of 2 commands issued on router B

B#show ip route

<output omitted>

10.0.0.0/27 si subnetted, 2 subnets

R 10.16.1.0 [120/1] via 192.168.1.1, 00:00:06, serial0/0

R 10.16.1.64 [120/1] via 192.168.1.6, 00:00:25, serial0/1

<output omitted>

S* 0.0.0.0/0 is directly connected, Serial 0/0

B#

B# show running-config

<output omitted>

Router RIP

Version 2

Network 192.168.1.0

No auto summary

Ip classless

<output omitted>
